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oc: M — M
M={xeM)|o(x) =x}

: Lagrange
wlpr =0 (w: MO Kahler )
dimgp M = dim¢ M
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Rn C Cn,
RP"™ C CP",
Gr(Rr+n) C Gr(Cr+n)



Hermite

: Leung,

Gr(C"t™) : G, (R"T™),
Gq (Hq—l_m) (r =2q,n =2m),
U(n) (r =n)




4.1(00-T.)

M

Hermite

Ll, Lz : M

—

leLQ:Ll




4.2(00-T.)

M

Hermite

Ll, Lz : M

—

leLQ:Ll




4.3(00-T.)

M :

Hermite
Ll, Lz : M

#oly < #a2L-

(1) (M, Ly, L) F

(G2m(64m)9 Gm(Hzm)v U(2m))
(m > 2)

— L1 N Ly : Ly




(2) (Ma L19 L2) =

(G2m (C*™), G (H™), U (2m))
(m > 2)

=

#(Ll M Lz) — 2m

< (zm) = #5G,p (H™)

m
< 22m — #ZU(Zm)
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c" Lagrange

U(n)/O(n) = U(n)R" C GE(C")
c:U(n) -U(n); g—g
(U(n),0O(n)) : Riemann
u(n) = o(n) + v—Ts(n)
D(0;) = +/—1diag(6,,...,6,)
a={D(6;) | 8; € R}

v —1s(n)




01,...,0, € R

V(6,...,6,)

— {e\/jwleb Cee e\/jw"en}R c C?

A = Expa

={V(64,...,0,) | 6, € R}
U(n)/O(n)= | ] kA

keO(n)

Lagrange
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<

: C*"J Lagrange
ke On)V ekA
Hz & R V —_ k‘,V(Hl,...,Hn)

kV(0,...,0,)
=k {e\/?wlel, cees e\/?w"en}R

= {e‘/jwlkel, ey e\/jw"ken}

R
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: C*"0J Lagrange

)
s
M
7=

LL|
——
&
-

ZS

3
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CP" RP™

RP"™, uRP™ :

(u € U1 +n))

{’Uz'} . Rl_l_n
€ R

u%lf"’ = {emgivi}ﬂ%

RPN uRP™ = {Cv,...,Cv11,}
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4.4
M Kahler

Ll, L2 : M

Lagrange

= LiN Ly #0

Frankel
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4.5

M

A : o€ A
S : S:UZSZ
Aq oc A
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4.5

4.1
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M

Hermite

—> M .

J

L : M
LmM;F;é(Z)

T . |
=>LﬂMj ‘Mj
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M, L, Ls : 4.2, 4.3
F(so, M) = U;:O M;
o& LiN L
LiNLy, C F(so, M)

LN Ly =

UjmoU(L1N M) N (LN M)}
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